10.

Atoxprtd Madnpatind
Ocwplor Aptiumy
Eoyoota 41

Na ypdhete dhoug Toug mpwtoug aprduoig uéyet to 60.

Na Beette v xavovuer wopr| twv aptiudy:
196, 900, 1980, 2023, 2310, 9295 xor 1212750

‘Botww a,b € Z ye b # 0 xou a = bg + r 1 euxheldio dafpeon tou a ue o b.
No anodeiZete 6t uxd(a, b) = uxd(b, r).

‘Eotww a,b,r € Z*. Na anodeiéete 61U

(i) uxd(a,b) = uxd(a+ br,b)
(ii) pxd(a,b) = uxd(a,b— ar)

. 'Botww a € Z. No anodeiZete 6t uxd(3a — 1,2a+3) =1 A 11.

Eotw a € Z. No anodeifete 6Tt uxd(a +1,2a+ 1) = 1.

‘Eotw a € Z. No anodeilete 6t uxd(7a + 12,3a + 5) = 1.

'Eotw a € Z*. No anodeilete 6t uxd(3a — 1,3a+2) =1

‘Eotw a,b € Z. No anodeiéete OTL:

(i) wed(ba+ 17b,2a + 7b) = uxd(a, b)
(i) pxd(23a+ 4b,17a + 3b) < pxd(17a + 7b, 13a — 5b)

‘Botw a,b, ¢ € Z. No onodeiZete 61t uxd(a, b) = uxd(a + be,a + b(c — 1))



